PARTS LIST

ITEM QTY PART NUMBER DESCRIPTION STOCK NUMBER
1 4 |TB-200-006 1900 X 112MM SAFALOG COMTIMSAF0002
2 2 |TB-200-020 1100 X 112MM SAFALOG COMTIMSAF0002
3 2 |TB-200-008 1200 X 112MM SAFALOG COMTIMSAF0002
4 2 |TB-200-009 1200 X 112MM SAFALOG COMTIMSAF0002
5 1 |RS-100-007 RICKETY BRIDGE
6 4 |M12 X 150 COACH SCREW M12 X 150 COACH SCREW COMSTASCR150
7 4 |M12 X 200 COACH BOLT |M12 X 200 COACH BOLT COMA2CBM12X200
8 | 12 M12 WASHER M12 WASHER (DIN 125) COMA2FWM12
9 8 |M12 NYLOC NUT M12 NYLOC NUT (DIN 985) COMA2NNM12
10 | 12 30MM BOLT COVER 30MM BLACK CAP COMPLACAP0001
11 | 4 |300 x 300 x 400 0.036M3 CONCRETE FOUNDATION
12 | 4 300 x 500 x 300 0.045M3 CONCRETE FOUNDATION

N 7
N - /]
In 1 i i 1 hl
3
3
00—
(o] o

UNLESS OTHERWISE SPECIFIED: PROPRIETARY AND CONFIDENTIAL

DIMENSIONS ARE IN MILLIMETERS

TOLERANCES:
LINEAR:

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
+2MM FENLAND LEISURE PRODUCTS. ANY

1 DECIMAL PLACE: +0.5MM REPRODUCTION IN PART OR AS A WHOLE

ANGULAR:

+1° WITHOUT THE WRITTEN PERMISSION

Title:

MOD-600-016 - RICKETY BRIDGE

Product Range: ECO TRAIL

OF FENLAND

LEISURE PRODUCTS IS PROHIBITED.
online playgrounds

REV:B

DO NOT SCALE FROM DRAWING

Date:

31/01/2020

Page:

A3

Tel: 01354 638359 www.onlineplaygrounds.co.uk




3976

2000

5548

4500

1500

I | ?
ﬁ:
——a) |

1500
S N,
-,
=
=,
L

WETPOUR AREA = 9.0M2
PERIMETER = 13 L/M

MIN SPACE

6 SAFAGRASS TILES (1.5M X 1.0M)

2000

ﬁ:
——a |

i

4;
I

4500

T
I

g
I

—
| —

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS

TOLERANCES:
LINEAR: +2MM
1 DECIMAL PLACE: +0.5MM
ANGULAR: +1°

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
FENLAND LEISURE PRODUCTS. ANY

REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION
OF FENLAND
LEISURE PRODUCTS IS PROHIBITED.

Title:

MOD-600-016 - RICKETY BRIDGE

Product Range:

ECO TRAIL

O\.P

online playgrounds

DO NOT SCALE FROM DRAWING

Date:

31/01/2020

Page:

A3

Tel: 01354 638359 www.onlineplaygrounds.co.uk




2213

522

1168

522

700

FOUNDATION 300 X 500 X 400 DEEP
4 OFF TOTAL

ALL FOUNDATIONS 400 X 400 X 600 DEEP UNLESS OTHERWISE SPECIFIED

300

500
|
777777T77‘h7 i
| T T
| \
|
|
<
O
co
|
|
| |
| | o
| _t ] — 4+ — |- —— %
fi,i,ili,VL, 1
| |
| |
|
300

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS

TOLERANCES:
LINEAR: +2MM
1 DECIMAL PLACE: +0.5MM
ANGULAR: +1°

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
FENLAND LEISURE PRODUCTS. ANY

REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION
OF FENLAND
LEISURE PRODUCTS IS PROHIBITED.

Title:

MOD-600-016 - RICKETY BRIDGE

Product Range:

ECO TRAIL

O\.P

online playgrounds

DO NOT SCALE FROM DRAWING

Date:

31/01/2020

Page:

A3

Tel: 01354 638359 www.onlineplaygrounds.co.uk




1. POSITION EACH UPRIGHT POST INTO THE FOUNDATIONS HOLES. AS SHOWN BELOW, 3. FINALLY, ENSURE UNIT IS LEVEL AND PLUMB, ALL FIXINGS HAVE BEEN TIGHTENED
CONNECT THE FRAME ITEMS TO THE UPRIGHT POSTS POSITIONING ALL LEGS AND PROTECTIVE CAPS IN PLACE. ADD CONCRETE TO EACH FOUNDATION HOLE AND
INTO THE FOUNDATION HOLES. LEAVE FOR 48 HOURS

SURFACE LEVEL

o

o

i o
(IN]
Q
<C
o
O
=
(a4
L
L
L
('

2. BEFORE CONCRETE IS ADDED TO THE FOUNDATION HOLES, HANG THE ROPE AND )<

ENSURE IT IS TAUT. BRACE THE UNIT AND PREPARE FOR CONCRETE. CONCRETE
2100 GROUND IRON
N N
= — A1
i ing ihy i o pt
S
S 5
N
A /> UNLESS OTHERWISE SPECIFIED: PROPRIETARY AND CONFIDENTIAL | Title:
N E FHW ﬁ ﬁ ﬁ y TF DlMENSIONS,ARE INMILLIMETERS | 1\ e |NFORMATION CONTAINED IN THIS MOD-600-016 - RICKETY BRIDGE
R = [t g — CRANNGIS TE SOE PO OF | product Range: £CO TRAIL
™ ™ 1 DECIMAL PLACE: +0.5MM REPRODUCTION IN PART OR AS A WHOLE
ANGULAR: +1° WITHOUT TI-gFV;/S‘"II:I'AE\II\IDPERMISSION Date:
LEISURE PRODUCTS IS PROHIBITED. 31/01/2020
O\P
online playgrounds DO NOT SCALE FROM DRAWING A3
Tel: 01354 638359 www.onlineplaygrounds.co.uk




